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Comments: The problems | see are too many roads and too much clear cutting. They can thin the trees that are
over 80 years old. The timber companies wants to clearcut. Let them clearcut their own timber. This timber
belongs to the country. The timber companies want all those miles of roads, but they are not necessary. It may
take then longer to get to the timber and to get it out with fewer miles of roads, but they can do it.

| also think you are only thinking about the timber, but you should also think about the negative impacts that this
could have on the animals that live in the area and see what changes you should make to your plan or how you
could mitigate the negative impacts.



